Math 180 Practice Test 2
1.    Find the derivative using the rules we’ve learned so far.
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2.    Find the equation of the line that is tangent to the curve 
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 at x = 2.
3.     Graph 
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 on your graphing calculator. Identify on what intervals it is increasing and decreasing. 

        Sketch a graph of  
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, explaining your reasoning.
4.    The position function for a certain train is 
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, t in hours and s in miles. Find

        a. the velocity after 3 hours                      

        b. the velocity after 7 hours                     

        c. the position at 4 hours

        d. the acceleration at 2.5 hours

        e. at what time the train stops and then heads back.

        f. how fast the train is going a half hour before it gets back to where it started.
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